125

110

Allen screw
M8X35
P/N 200319

Db-killer N°32B
P/N 307762801

S.S. Muffler
P/N 301441

Aluminium spacer
D27 XD8.5
P/N 204321

ART. 14414EBU

Short Spring
P/N 303949001

&%
d\

\7593

0

@64 -0,1
| @ 61 +0,05 |
|~ -—
!: \
4485U \ 1000
Carbon clamp FB1DS @5%4503 0
P/N 3014220501 — : -
Bushing S.s.
A c0d.206079
uminium spacer aialeipininioirinipieieeialaisileieiel ;
ATTENTION!
D25XD8.5x14 USE ONLY WITH
P/N 207168 CF MOTO 800 MT
SPORT - TOURING
Flange Nut M8
I P/N 200298
bike's frame

Carbon bracket

—Aluminium spacer|
D27X28.5
P/N 204321

Allen screw

e .50V 35

2x Allen Screw
M5X12
P/N 201031

2x Plain washer
DE5xD15
P/N 406580

M8X20
P/N 200722

S.S. Pipe N°1481

P/N 0815204001

P/N 3014414203

Welded bushing
P/N 206079

2X Mounting
plate M5
P/N 204555

Carbon cover
P/N 0814414001

4x Graphite Gasket
P/N 200371

CFMOTO 800MT SPORT/TOURING - HUSQVARNA NORDEN 901 - KTM
790 ADVENTURE / R - 890 ADVENTURE/L(A2)/R/RALLY - KTM 890 SMT

(also fits 35Kw version)

SLIP ON - LV ONE EVO - BLACK EDITION



	DT-14414EBU
	Vista del disegno19
	Vista del disegno20
	Vista del disegno21


